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Roll No.

DD-2063

M. Com. (Previous) EXAMINATION, 2020
(Compulsory)

Paper Third
ACCOUNTING FOR MANAGERIAL DECISIONS
Time : Three Hours

Maximum Marks : 100

e 9 U el & SR ST | YAd 3HIE | T U
AT Afard € | geEl & of JHE © |

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TPE—1
(UNIT—1)
1. YD IETAf B Yhfd Td & BT quie difoy qer
s@T faxiT i I 3R 918y |
Discuss the nature and scope of Management Accounting

and distinguish it from Financial Accounting.

(A-8) P. T. O. _ _ _
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Xyz oI @ 2018-19 99 & Farew uRvmy i yaR & :

3
ICER] 40,00,000
T ;. IR T 25,00,000
SNEE] 15,00,000
T : ReR AR 10,00,000
g o™ 5,00,000
7 TR € :
fomr

A B C

®) ®) )
ICER] 18,00,000 | 15,00,000 | 7,00,000
gRacTefier amTa 12,00,000 | 10,00,000 | 3,00,000
gger ReR aTd 3,00,000 | 3,00,000 |2,00,000

Ty fowre et ufcrded AR SITY dor i T
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The operating results of XYZ Ltd. for the year 2018-19
are as follows :
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Sales 40,00,000
Less : Variable Cost 25,00,000
Contribution 15,00,000
Less : Fixed Cost 10,00,000
Net Profit 5,00,000

The additional informations relating to performance of
three departments of the company are as follows :

Departments
A B C
) ) )
Sales 18,00,000 | 15,00,000 | 7,00,000
Variable Cost 12,00,000 | 10,00,000 | 3,00,000
Direct Fixed Costs 3,00,000 | 3,00,000 | 2,00,000

You are required to prepare performance evaluation report
and rank the three departments on the basis of relative

profitability.
SPE—2
(UNIT—2)
qoredl FRiF0 F@1 2 ? 38 69 UeR ydgdg e |
TP T B AE BT BT © ?

What is Budgetary Control ? How does it operate as a tool

of managerial control ?

(A-8)P.T.O.
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YT
(Or)
U ol wvere e v drd O oo g8 g,

freIfoRad AT UeTd &Rl @

HAD

80 foratrum. fAfa ara @ fore s 100 kg
Wfﬂﬁgﬂ % 1.20 per kg
CIRSICEE

ITGA 240000 kg
A g 315000 kg
AT B AT % 3,46,500
ST BTG

() AW ST faERor

(i) W e fraRor

(iii) A NI faeRo

A manufacturing concern which has adopted standard
costing furnishes the following information :

Standard :
Material for 80 kg finished products 100 kg
Price of Materials 3 1.20 per kg
Actual :
Output 240000 kg
Material used 315000 kg
Cost of materials T 3,46,500
Calculate :
(1) Material usage variance
(i1) Material price variance
(iii) Material cost variance
(A-8)
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(UNIT—3)

3. fo=feRad a9 YDl T BRAT ©

(@1) ™ /AT SrgUTd
(@) /AT SU $ HERET 9 99-fawes g
(|) % 4,00,000 HT AT ARTT FRA @ forw famr o Afy
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IR AATTd 80,000
gRacd-eiel dnTd Ui SPIS
goger AT 5
Tl S 2
TogeT Uy TIE HH BT 100%
fasma qea ufa sa1e 12

From the following data you are required to calculate :
(a) P/V Ratio

(b) Break-even point with the help of P/V ratio

(c) Sales amount required to earn a profit of ¥ 4,00,000

3

Fixed Cost 80,000

V. C. per unit :

Direct Material 5

Direct Labour 2

Direct Overhead 100% of Direct Labour

Selling price per unit 12
(A-8)P.T.O
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3prar

(Or)
‘G131 AT WIS v # AW AT @ Fn e © ?
39 i &1 gwifad oA arel o) BR&T @l faaaer W
PIFTY |

What is the role of marginal costing in the decision of

‘Make or.Buy’ ? Discuss the other factors also which
affect'this decision.

SHR—4
(UNIT—4)

IGS YaTe fIaver g7 € ? 39 &Y qaR fdar orar g 2
What is Cash Flow Statement ? How is it prepared ?

JRIdr

(Or)
th G A fefaRed wEmEeEel @ uwarq a
2018-19 § ¥ 3,90,000 BT o1+ 3rfofa o :

4

i) |qsa ™ 1,43,000
(i) | oxfe 2 srafafad fear 13,000
(i) | @ emferRad & 19,500
(iv) | wIrl FeREl @l 9w ) ™ 2,600
(V) | 9T T 2,080
(vi) | SrEfrete fafarr & fawg w® =1 6,500
FATe BT B T BT

(A-8)
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A company earned a profit of ¥ 3,90,000 during the year
2018-19 after adjusting the following :

i
(1) Depreciation for the year 1,43,000
(i1)) | Preliminary Exp. written-off 13,000
(iii)) | Goodwill written-off 19,500
(iv) | Profit on Sale of fixed assets 2,600
(v) | Dividend Received 2,080
(vi) | Loss on sale of long-term investment 6,500
Calculate funds from operations.
TPIR—5
(UNIT—S5)
5. ThaT SMENRG @I 3 @1 8 ? 39d M 3R WY

T E 7
What is Activity Based Costing ? What are its advantages
and limitations ?

3T

(Or)
yeger ftdedl | 30 w1 wHed § 2 Ued @ -
WRI B BB G SR TR U T & 2
What do you understand by Reporting'to Management ?

Which reports are submitted to various levels of
management ?
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